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Code No: 126WV
JAWAHARILAL NEHRU TECHN OLOGICAL UN IVERSITY HYDERABAD

“Time: 3 hours ™

Note: This question paper contains two parts A and B.
Part A is compulsory which carries 25 marks. Answer all questions in Part A. Part B
consists of 5 Units. Answer any one full question from each unit. Each question carries
16 marks.and may-have-a;.b, c as sub questxons - A

(25 Marks)

( 1.a)  Define the area ratio. [2]
Describe standard penetration test. [3]
What arg the assumptlons made in Blshops theory? s, 21, ..
o BrL L
_.-"What are-the assumptions in Coulomb 8. theory‘7 A [2]
f)  What is the practical significance of earth pressure theory‘7 [3]
g) The load carrying capacity of end bearing pile is estimated as 100 kN. How the
capacity can be doubled for the same length? 2]
h)  State the factors affecting location of footing. [3]
i) Comment on well sinking. ‘ . [2]

) erte a note on shlfts‘?

" PART.B

(50 Marks)
2. Explain with neat sketch how dynamic cone penetration test is carried out in the field.
[10]

- - e A OR - RSN . A o
:If you are 1n-charge of subsml exploratlon of 1mpertant structures, how wou]d _you
“decidé-thie depth of exploratlon‘? List-oiit the ‘factors~you will considef’ and their* ™

importance. [10]

4. What are the assumptions that are generally made in the analysis of the stability of
slopes? Discuss the factors leading to the failure of soil slopes. Also sketch the different

ty,pes of slope failures., ....... Ao (10] ..

W \atis.meant by infinite slope‘7 hat. is- the crlten@n for the stabx 1ty .ofan infinite: ...+

slope in sand?
b)  Define various factors of safety used in the analysis of stability of slopes. [5+5]
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6.a)  Explain about the construction of Culmann’s graphical method.

b)  Write a note on stability of earth retaining structures. [5+5]
OR
7 A retammg wall has a s"r'ﬁéoth vemcal bac.lfv_and is 8 5m lﬁ-'ﬁ.?lght It retalrl'é"'éi horlzontal :

"'wau if y=18 KN/m® and Ysat—zo N/’
a) The water table is far below the base of the wall
b) The water table rises up to 4.0 m level above the base. [5+5]

How do you estimate the settlement of a footmg on sand usmg plate load test? How is

depth.correction applied?-. ; &
The foundation for: a Square footmgx, of w1dth 2m is-

_‘depth of 1 Sm‘;‘

:be founded at:,

/The' s6il properties are ¢=0, ¢=36", &—18 2 KN/, ysat—20 KN/m’. Deté
ultimate bearing capacity, when the water table is at

( i) 1 m below ground level
ii) 1 m below foundation level

(for¢ =36, Nc=52, Nq 32&Ny—35) [5+5]

§ -""'clay SUbjECted t6 seasonal ‘shrmkage arid- swellmg.upto a- debth of/1.50:m:-The average‘«
undrained shear strength of clay is 50 kPa upto pile tip and 100 kPa below the pile tip.
Find the ultimate load carrying capacity assuming adhesion factor of 0.3 and neglect

the top 1.50 m soil. [10]

11.  Briefly explain the procedure adopted in well sinking and bring out the problems that
are encountered in open sinking. [10]
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